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$VVDODPX¶DODLNXP�:DUDKPDWXOODKL�:DEDUDNDWXK

3XML� V\XNXU� DWDV� UDKPDW�� QLNPDW�� GDQ� NDUXQLD� \DQJ� WHODK� $OODK� 6XEKDQDKX�:D�
7D¶DOD EHULNDQ VHKLQJJD� SHQXOLV� GDSDW� PHQ\HOHVDLNDQ� 7XJDV� $NKLU� LQL� GHQJDQ�
EDLN�� 3HQXOLV� PHQ\DGDUL� EDKZD� SHQJHUMDDQ� 7XJDV� $NKLU� LQL� WLGDN� GDSDW� GDSDW�
WHUVHOHVDLNDQ� WDQSD� DGDQ\D� EDQWXDQ� GDUL� EDQ\DN� SLKDN�� 2OHK� NDUHQD� LWX�� SHQXOLV�
PHQJXFDSNDQ�WHULPD�NDVLK�EDQ\DN�NHSDGD�

�� %DSDN� )UDQVLVNXV� 7DWDV� 'ZL� $WPDML� 6�7��� 0�(QJ VHODNX GRVHQ
SHPELPELQJ���

�� %DSDN�'UV��-XGL�$OKLOPDQ��06,(�VHODNX�GRVHQ�SHPELPELQJ���
�� 3DN�:LVQX�� 3DN�'DUU\�� 3DN�(YDQ�� 3DN�+HQGUD�� 3DN�7HGG\ VHUWD� VHOXUXK�

NDU\DZDQ� GL� 37 6DQEH� )DUPD� &LPDUHPH� 8QLW� ,,, \DQJ� WHODK� PHPEDQWX�
SHQXOLV�GDODP�PHQGDSDWNDQ�GDWD�\DQJ�VHVXDL�GHQJDQ�NHEXWXKDQ�SHQHOLWLDQ�

'DODP�SHQ\XVXQDQ�WXJDV�DNKLU�LQL�SHQXOLV�PHQ\DGDUL�EDQ\DNQ\D�NHNXUDQJDQ�GDQ�
NHVDODKDQ� \DQJ� KDUXV� GLSHUEDLNL�� +DO� LQL� GLNDUHQDNDQ� NHWHUEDWDVDQ� LOPX�
SHQJHWDKXDQ��GDQ�SHQJDODPDQ�\DQJ�GLPLOLNL�ROHK�SHQXOLV��2OHK�NDUHQD�LWX�SHQXOLV�
PHPLQWD� PDDI� DWDV� VHJDOD� NHNXUDQJDQ� GDQ� NHVDODKDQ� GDODP� SHQ\XVXQDQ� WXJDV�
DNKLU�LQL��3HQXOLV�PHPEXND�GLUL�WHUKDGDS�NULWLNDQ�GDQ�VDUDQ�\DQJ�GDWDQJ�GDUL�OXDU�
VHEDJDL� NULWLNDQ� \DQJ� PHPEDQJXQ� 'HPLNLDQ� \DQJ� GDSDW� SHQXOLV� VDPSDLNDQ��
6HPRJD� WXJDV� DNKLU� LQL� GDSDW� EHUPDPIDDW� GDQ� GLPDPIDDWNDQ� VHEDLNDQ�EDLNQ\D�
ROHK� SHPEDFD�� 6HPRJD� $OODK� 6XEKDQDKX� :D� 7D¶DOD� VHODOX� PHPEHULNDQ�
NDUXQLDQ\D�NHSDGD�NLWD�VHPXD�
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